Mean Spectrum Continuum Lightcurve
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RMS Spectrum BLR Lightcurve
rm045 BLR 6160 MR son[km/- raw rm045
T U AT TR — 1 — T T T T T — T T T T 1
—~ S/N BLR 13 CHI] 16 CIV 27 SiIV 14 L« 50
T
= RMSx 0
IVJ
TE model
© ox
2 n o
>3
~ /1] Lot
5 ° s
Z i SIV
o< [ CIv
o LH \JJMIH |
. cm]
-|lh‘||||||||\/ 1 Il|’ o by TBLR
1000 7000 7500 8000 8500 9000
A (&) z = 3.05970 MJD — 2450000
x(\t) = ( Data — Model ACsBsF ) / o x Phot Corrections
rm045 med(mad)% Ap 1
— L R | L B
Ap 100.0(2.0)% S/N —6.7
Prior(Ap) 5.0 %
~ o~
® -
o
E
3
c
E o
3
=
[$]
(']
o T
b
g C. " " 1 " " " " 1 " " " " 1 " " " " 1 " " " " |
1000 1500 2000 oo 7000 7500 8000 8500 9000
bad:300=0.075% A (R) z = 3.05970 MJD — 2450000
u = 0.014(21) x = 0.959(74) => 0.959(74) 4 = 0.0123(71) x = 0.9512(148) => 0.9513(146)
rm045 med(mad) AC,BF rm045 med(mad) AC,BF
I”“I”“I-‘- T T T _'I_ I_'_I T _I'__I'_ I T T T T FT T T T T T T T T T T T T T T LG |
U
- ” osiamis I TP 1 L”‘ Pl U‘ ey X
x ' | "' n'fl‘ i = e . I ’ . i x
z . T 'f'.'"T""T'r."" . ITY "““,"""""']'n'ﬂ‘“r“\"'rﬁ"'ﬁ T,
2 , e , Vo 10 T
sl , . , Co
Elnaliats S
°© A, Al g o = = =%
IIIIIIIIIIII l 1 1 I -u || n 1 n n n n 1 "u n n n 1 n n n n 1 n n n n 1
1000 1500 2000 e B0 7000 7500 8000 8500 90%9—6.00

A (R) z = 3.05970 MJD — 2450000



